SOy i
ﬁ:*‘f*“ on
® LSS B o
o = 53
AN [uadhd £ b
p PO 1O £ D
i 4 :w' Q oM
ofkd i wu G m
ASH frod LN
4 - b g o
DOOR oS CR
4 ;04 58 £g2
‘ 2 ¢ 5t
' + ) Dg'
Fiber-Classic. & Smooth-Star. 2ca
O N
¢ 3
g8
502
o o0

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

WOOD EDGE
GLAZED FIBERGLASS DOUBLE DOOR

Documents Prepared By

W/ BLINDS BETWEEN GLASS =~—— 74.5" MAX. O.A. FRAME WIDTH %‘E”
INSWING /OUTSWING o | B2
"IMPACT" 58 | &
T | BE
L0 |15 <©
— ES o 3&3
z Z FH g L8
<% <& e &l 83
EVALUATED FOR USE IN THE STATE OF TEXAS o ;Z_-— 03 § ol =9
The Fiberglass Door system described herein complies with the 2018 Infernational =5 g = X e X b E &
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code =y 20 ® = =
{IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: © Y ; = &
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment é %
to base material shall be beyond wall dressing or stucco. - y /
2. This system has been tested and evaluated as a large missile impact profective ,/// ,4//
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996. %
3. Allowable design pressure requirements must be equal fo or less than the design 7
pressure rating shown in the design pressure chart, sheet 1 of this drawing. @
4. Conditions not covered by this drawing are subject to further engineering analysis.
5. Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of "J" part
numbers. These door panels must be stained or painted within six months of
installation.
TABLE OF CONTENTS E
SHEET # | DESCRIPTION &
1 Typical EIevaﬁoqs, Design Pressures & General Notes DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) 3
g 3238232? rDetak CONFIGURATION INSWING OUTSWING 2
T Thothontal EVeToa Crom Sactors POSITIVE | NEGATIVE POSITIVE | NEGATIVE Z’C\:ELE 7/1\21 1T/521
2 ;’rzﬁg’/'kﬁgg rff;*'ons XX +45.0 -50.0 +50.0 -50.0 oW B RW
7 Hardware Details CHK. BY: LFS
8 Lite Frame & Glazing Details DRAWING NO-
9 Bill of Materials & Components TX=5220

SHEET _1_oF _9

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX ID XXXX- 6'8 & 8'0 BBG FG imp FJ Jambs (TX 5218-5223\C - Drawings\TX-5218-5220.dwg

© ZDZT R.W., BUILDING CONSLLTANTS INC.



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX {D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223)\C - Drawings\TX-5218-5220.dwg

\ 238" 1.2 =] SO i,
1.2" ~ Fr i 0 o
[‘ lr_’:j[::)({] EXTERIOR DD‘:][_‘_:] 5%«‘.“,; 0i o5 "
1 VeV T RESEEE I A 5*%.* % %9 T
R e R AN iL £= 2 uo
! ERE I o = = % E NI R Ay ¢B Y
: g = K [ AT PV i x££ [
n g v i %;‘&%%;za Yy 502 e
$ f R iR AR %t% Z8q 2%
D D : 4‘{{')‘--. HA 5F BE8 GE
/ ] INTERIOR (] S g 375 Bg
LOCK BLOCK TOP RAIL TOP RAIL W ris 295 &b
HINGE STILE - LATCH STILE s . EQ
(ENGINEERED WOOD) /"1 "\ HORIZONTAL CROSS SECTION 12.5"LONG (WOOD] (&G wooD) (COMPOSITE) (COMPOSITE) f ; ; $ oy
2/ P50 %
& 502 gp
— L = " , ; EBet gk
' ll:]f;:‘l,_}:] EXTERIOR [S5= 238 ! R 2 § R E
- E j i FOAM CORE || - FOAM CORE ||
14 R . -l \_, \~ dE
/ | D INTERIOR D - N a
LOCK BLOCK o =
HINGE STILE , LATCH STILE 59 5
ENGINEERED WOOD) /g\uomzomm CROSS SECTION  12.5"LONG (WOODI e wooD) N 2S | &
BRI EER o
36" MAX. DOOR . 3581"MAX.DOOR ___ 35.81" MAX. DOOR 7 . | O (] E‘Jé 2 &
PANEL WIDTH PANEL WIDTH " PANEL WIDTH —— I . 1 E§ S
D o D D D '6 o g 8
2 2 2 3 b
o <L
o o
Wl Wil >
m m = m INTERIOR W EXTERIOR INTERIOR W °
= o) EXTERIOR
S = . W_j . @/ @/
5 5 5
£ _f ¥ : M= [ .
o R 0 o : Z
E W E [T} % w0 %
= X | Kl = X | Kl x X |® il L/ U )
o) o) o} e _
A @+ A& @+ a (0] "
< } < f > T FIBERGLASS SKIN FIBERGLASS SKIN
= = =
i i %
N N Q
& y S , < ) . ] 1y
: Q «Q <
/ / 4 S S 8
/ / =
o]
=z
gl | sorou taL [ w7751/
( ) ( ) SCAE:  N.T.S.
4 <] 4 1,7 — 17" — DWG. BY: RW
40\ FIBERGLASS DOOR PANEL 41) FIBERGLASS DOOR PANEL 42\ FIBERGLASS DOOR PANEL cHk. B:  LFS
BOOK DOOR - WOOD EDGE HYBRID DOOR - WOOD EDGE U1 DOOR - WOOD EDGE 7“3\ VERTICAL CROSS SECTION 7“4\ VERTICAL CROSS SECTION DRAWING NO:
TX—5220

FIBERGLASS SKIN: 0.073" MIN. THK. \2/ \2/

FOAM CORE: POLYURETHANE -1.9 PCF MIN.

SHEET 2 oF 8

© 2021 R.W. BulLDING CONSULTANTS ING.



TON| SANVLINSNGD GNIGTINg "M'd 1202

2S8LL—d # NOLVMISIOR 40 ILVOLHILNID SNOISIAJY i

SHIINIONI IWNOISSTONd 40 Quvod SvXaL SNOILYATTI Ad 3ivd [ON p slzlol o 9_

LBLE'BGE'CLE "ON euoyd : Nt & N
cooee 1 oo e Xon o \S@% TKTEAISSY 0 L1avd o ] I B PR
“ONI ‘SINVLINSNOD SNIQTHNg RN . g | 3_

4000 SSY19434l4 NLEE|g B
€ZLYOL# "A'd SVX3L NAL—-VYALIHL i m olelE m
‘F'd IPIUYDG ‘o UOPUAT :Ag peuapdedd sjuswinsoq 10NA0Nd 518 W 5 W 5

SIGNATURE SERIES

F51
DEADBOLT: Bé&0
DEADBOLT: SIGNATURE SERIES (980)

KNOB:
KNOB:

SCHLAGE
KWIKSET

(LINO) W
\
E
)
> Wm U
o] w
Pr :

A4

BMP0Z2s-8L25-XL\sBumesq - D\(£225-812S X1) squer 14 dulf 94 988 0.8 % 8.9 -XXXX Al XXX - IQL\su] o 1daq sexa] - G\LNINYINYId ML BWBYINSIUSIDNZ



"ONE SINVATINSNGD aNIigmng "M'd L2202 @

ZS8LL~4 # NOLWVMISIOIY 40 3LVOI4L¥ID SNOILOIS SSON9 SNOISIAZY _
SHIINIONT TWNOISS3408d 40 aQ¥vog Svyxal WALLNIA % WINOZINOH A8 41vad [ON

LBLE'6SY'CLR TON euoyd :
GBGEE "Id OOMIDA 0EZ Xo” "O'd \Sﬁ&. ATENISSY HO Lavd

*ONI *SINVLINSNOO ONIaing
4000 SSY19434ld
£ZLPOL# "T'd SVXIL NAL—VAHIHL
A'd IPIUYDS "4 uopuk :Ag padodaid sjuswinooQ :LoNA0Yd

RW
LFS

N.T.S.

TX—-5220
SHEET _4 ofF _9

oATE: 7/21/21

DRAWING NO.:

SCALE:
DWG. BY:
CHK. BY:

le32¢

TGN
ARG N
....0\ A“.
Drveniassanasrerass K . m
LAIWHOS 4 zooz. Lg

.
Crsaneununaeareeelt

G aeoee areense k
2%, SR
\M«& ¥ s, - .ut“

0 e s R

.............

——
\DRYWALL

INTERIOR

7
A\

A

2\
2\ VERTICAL CROSS SECTION
\y Outswing shown {Inswing similar)

EXTERIOR

INTERIOR

/"3 "\ HORIZONTAL CROSS SECTION
\4/ Outswing shown (Inswing similar)

INTERIOR
EXTERIOR

EXT. X

SHEATHING

m HORIZONTAL CROSS SECTION
w Outswing shown (Inswing similar)

DRYWALL e <_ﬁO.lS" C-SINK
\ T

Bmp ozes-gLes-X1\sBumelq - D\(€225-8125 XL) squier (4 dwi D4 984 0.8 8 8.9 -XXXX Qi XXX - IQL\su] 0 1daq sexay - S\ININVINYId N1 BWIBYI\SIURID\'Z



INTERIOR

(@)

SEENOTE 1

Notes:

1. Sill tem #32 is attached to jambs w/ (3) #8 X 2-1/2" pfh screws at each end.
Sill tem #33 is attached to jambs w/ {2} #8 X 2-1/2" pth screws at each end.
Sill lem #34 is attached to jambs utilizing {2) #10 X 2" pph SMS at each end.

N\ EXTERIOR
/Y EXTERIOR /“x INTERIOR

% @ D@

32

SEENOTE 1

N

W

N

=

‘D WOOD
K ) wooD
Q CONCRETE

D) CONCRETE (2 VERTICAL CROSS SECTION
71"\ VERTICAL CROSS SECTION 5/ Outswing si

\y Inswing Sill

EXTERIOR /“y INTERIOR
9
34
SEENOTE 1
K ) woOD
D ) CONCRETE

7”3 "\ VERTICAL CROSS SECTION

\5) Outswing Sill

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU
FIBERGLASS DOOR
PART OR_ASSEMBLY:
VERTICAL CROSS
SECTIONS

PRODUCT:

BY

NOJ DATE

DATE: 7/21/21

scAe:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5220

SHEET 5 oF _9

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223\C - Drawings\TX-5218-5220.dwg

REVISIONS

© 2021 R.W. BUILDING CONSULTANTS NG,



*ON| SINVLINSNOD 9NIGTNE "M'Y LZ20Z O

ZS8Ll—d # NOUVMLISIORM 40 ALVOLILLYNAD SNOISIATY -

SHIINIONT TYNOISSI40Md 40 Quvoda SvXal ONINOHONY TV Ad 31vd [ON Sl ol o 9_

L616°6G9°CLY "ON 8uoUd : N & N
G6SEE 14 O9MIDA 0£Z xod "O'd \S\&b -ATBNASSY MO Ldvd N W = S s
*ONI 'SINVLINSNOD 9NIGTINg Y . N 6_

00 SSY19434ld ~NMoTE e 2
£ZILYOL# "T'd Svxal NIL—VYNH3HL i w ollE m
"I'd WPIWYDS 4 Uopukd :Ag peupdeuad sjuswinood 10Naodd S8 z 5 m 5

)
<
e
(a)
0
5
I
O
[t
[22]
2
<
-

~— &' (TYP.)

SEE DETAIL 1
(SHEET 8)

‘};TRAGAL
NI
i

|

l

|

I

1

l

l

l

l

l

|

l

|

|
\ 5
| I\J I
XX

FRAME ANCHORING

3" (TYP.) —=|
4" (TYP.) —~]

HEAD & JAMBS
(TYP.)

—
—
——
—
—

(TYP.)

FRAME

BMp'0zzs-8L2s-X1\sBumeld - D\(€225-8Le2s XL) squer 4 dwj 94 984 0.8 18 8.9 -XXXX G XXX - IQL\su] Jo 1daQ sexa] - S\LNINVINUId N1 Busy [\sIU3lD\Z



CON SLINYLINSNGOG aNIaTINg "M'Y L2202 @
Z68LL—d # NOLVMLSIORY 40 ILVOLLLNIO SNOISIAZY =TV ToN
SYIINIONT TYNOISSIHOHd 40 Q¥vod SvX3l SIVLIA THVYMANYH A8 m Glzlo m 9_
L616°6G9°CLR TON SuOUd : 2 W
G6SEE 14 OOUIPA 0SZ Xog ‘O'd &@. FAENESSY HO Livd N M s0|°
‘ONI ‘SINVLINSNOOD SNIdTing N N EIN! 7_
d00Q Ssvi1od3gl4 AR =
STLYOLF "3'd Svxal NAL-VNYIHL i m gly(2 &
‘T'd IPIUYDS ‘4 UOPUA] kg pedpdetg sjuewinoog 119Na0Yd ZIGIEIEIE &
/292 ¢
N 3o
X/ Bis
= - 5
W 20
[T =
g
:«?;.Rﬁ?.a&. Q\\ L ﬂ & M
WV 40 JOOA Al¥gAH/LN @ \, =
dOL WO .SZ1°1 L ('dAL) S26C I , Elo
=
GAVT 40 3400d Y008 S A— = W
dOLWO¥4 .ST'1L ('dAl) .ST'62 @ T 2"
m 1T =
- : | 3 Re?
[ 74 . . . . . 1
m 0\\ e ‘e
T
ad
<
2 ®
O .
wa
SE
X
[N
b
—~— (S ) .0%F w
-— :m.m N— m
OO
m [BEtal ] ] m.m
51
<ic
O
/ 8
— =
00
<83
5282
o8
S\\
.Wu
®
i
o] o~ g.m u
o B E 3 =
- Q nuu S W
O g o
== P om
6 : © g
oz
® : / =
w = /4 N
5 (i 5 3
= g 8 s <5 o & a
<< =z O & ] o 2z o
m D m = |~ g m 9 <L
|2 £ /i © wi
g2 (=X 2 WG a
Sls 3 | -
Wi N\ g O= X
Q o
o¥ m \! O QA N| o m% m
=3 ez
g J)| gz 3
S BIE2S
N 89
QE
Qv

Bmp0Zes-8L2s-X1\sBuimelq - D\(€225-8125 XL) squer (4 dw| 94 9584 0.8 7 8.9 -XXXX Gl XXX - 1AL\sul J0 1daq sexay - e\LNINVNYId NiL BULBYL\SIUBID\Z



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG imp FJ Jambs (TX 5218-5223)\C - Drawings\TX-5218-5220.dwg

20.94'D.L.O. % g
WIDTH =
]
#10 X 2" PPH SMS
/ (TYP)
’5:‘ !
O
[E K]
@I
o
&
3
O _
O o
LE
—>1 l“w 4n
(TYP.)

6"-8" LITE FRAME

ALUM. (6063-T5)

DOW 995 GLAZING
COMPOUND

NORSEAL CLOSED CELL 1/2" GLASS BITE
PVC FOAM —— 1-1/4" O.A. THICK GLASS
EXTERIOR
1/8" ANNEALED GLASS
.~ 0.090" SAFLEX PVB INTERLAYER
- = 1/8" ANNEALED GLASS
T BLIND INSERT
‘Y AR SPACE
NTERIOR 1/8" TEMPERED GLASS

FOAM SPACER
w/ ALUM INSERT

#10X2'PPHSMS  NORSEAL CLOSED
CELL PVC FOAM

G1 GLAZING DETAIL

1-1/4" insulated Laminated Glass
w/ Intemal Blinds

T

@ ALUMINUM IMPACT LITE FRAME

AR S o

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.8197
TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F-—11852

Documents Prepared By:

9
Q: —
e bl
20 Wiy
B §Q
0 I3 o
32 (g o2
Lo |3 53
=E (Ué L)
., D
Bl = |y
g S
.
e} k&
& Py
>—.
o
0
z
o
N
o
-
<
S
o
=
DATE: 7/21/21
scale:  N.T.S.
DWG. B:  RW
CHK. BY: LFS
DRAWING NO.:
TX—5220

SHEET _8 oF 9

© 2021 R.W. BuiLDING CONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-52230\C - Drawings\TX-5218-5220.dwg

BILL OF MATERIALS

TEM # | DESCRIPTION MATERIAL
A 2X FRAMING (SG >= 0.42) wOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F #10 X 2" PFH WOOD SCREW STEEL
K #10 PFH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
P 3/16" PFH ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
1 FINGER JOINT PINE JAMB COMP
7 WEATHERSTRIP FOAM
8 DOOR SWEEP VINYL
9 SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL
10 #10 X 1-1/2" PPH SMS STEEL
20 #8 X 2-1/2" PFH WOOD SCREW STEEL
21 #12 X 1-1/2" PFH WOOD SCREW STEEL
22 #8 X 3/4" PFH WOOD SCREW STEEL
23 #9 X 3/4" PFH WOOD SCREW STEEL
24 #9 X 1" PFH WOOD SCREW STEEL
25 #9 X 2-1/2" PFH WOOD SCREW STEEL
26 #8 X 5/8" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL

28A | DEADBOLT SUB-STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
32 INSWING THRESHOLD ALUM/COMP
33 OUTSWING THRESHOLD ALUM/COMP
34 PUBLIC ACCESS THRESHOLD ALUM
40 DOOR PANEL {BOOK) -
41 DOOR PANEL (HYBRID) -
42 DOOR PANEL {U1) -
44 COASTAL ASTRAGAL (THERMA-TRU) ALUM
78 MULTIPOINT LOCK STRIKE PLATE @ HEAD STEEL
79 MULTIPOINT LOCK STRIKE PLATE @ SILL STEEL
80 COASTAL ASTRAGAL STRIKE PLATE STEEL

= H ‘\.’\‘\7\:\.‘, h‘i
R .. .8 TR
1= S o i
‘ 7/ R H N %zh a Lil
& o gl B
| ¢ . 2 N &
p t) ""m .fo
* 53 €52
2.2" ; ¢ Eg 222 6
3 388 R
07~ W
@ FINGER JOINT PINE JAMB 2o &
O -
o
Q Xz
28, 6
265 ¢
[ 56" poa <
4.56" | 456 o 8
:

r 1.5" —

32 INSWING THRESHOLD

Adjustable Composite Sill

33 OQUTSWING THRESHOLD
Composite Sill

6"

0.082"

_L\r_
r

@ PUBLIC ACCESS THRESHOLD

~—1.91"

U —l=—0.06"

O
—] 013"

44 COASTAL ASTRAGAL

- 2.68" -————»l

L
| W—h‘i{ o /ﬁ'ﬁ]ﬁ

b 7o ~——-»' L— 2.06"

o

S ‘ SWEEP @ SWEEP
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joinis.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusied fo
maintain the min. edge distance to moriar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

THERMA—-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

BY

REVISIONS

NOJ DATE

bATE: 7/21/21

scaE:  N.T.S.

nw - " " o
Apcon®| 174 1-1/4 2 4
DeWALT . ; : ;

uuiracon®| 14 1-1/4 ! 4

ITW i il Ll

e | 36 1-1/4 AS SHOWN 1-1/2

DWG. BY: RW

CHK. BY: LFS

WOOD SCREW INSTALLATION NOTES:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

—

DRAWING NO.:
TX-5220

SHEET _9 ofF 9

© 2021 R.W. BUILDING CONSULTANTS INC.



